HOORBEERTERATA2ELHREAS FSvoEHER ’MT Bl
32 e -
2017/07/05 ~ 2017/07/06 BEREHE BE —B
BEREHE Al #—
O OF I KB X
Bt [EAE] 115 2§ 3L 441 541 6fiL 741 8fiL
JRs@ | 'EBFI00m i SEACT) 11.84(#ZF HEQ) 11.93|8 A1) 12.12|{E AR BRta(1) 12.19|FE K¥&E(1) 1222|750 EiE(1) 12.29|%5ith ZE(Q1) 12.43[%EF &) 12.45
B:+24  |4uiE F— [RET— EHrm RE— T4 EE WhER
JRem | 2EBETI00m [ER HR(2) 11.43|E15 FAE(2) 11.46[F1L K—(2) 11.53[%i5 BH2) 11.56[&i0 #R=(2) 11.65[ &)1l #AK(2) 11.65(85K  #8(2) 11.68| E+AH#(2) 11.87
Bi+16  |F— ML= Hinm fog i RE— mAR— F= EZH—
JRsg | 3EBETFI00m [BR BAE) 11.04/ {8 F0HE3) 11.09(F#k HKR(S) &R f3) N[EE EEQ) .14[HF FERES) 1118[i8  #(3) 11.30(1&8k BEMN(3) 11.45
B:+3.6 KA ML= PE— REZ dLiE Ali— —% NE
JReq | HEBT200m (FAEE  FE(3) 22.72|#E FE(3) 22.75|0K BK(3) 23.39|ILFR —18(3) 2339|A+EKRE(3) 23.73(H3F  B&(3) 23.84|f8IT EHN3) 24.05| RABEEEEN(2) 24.14
B:+16  |JefE H|LWhER H| 5] HEH EE— L= LT SEFE
168 | #mEBT00m | EA BHE) 5201|8hA &H(3) 52.66|8hA EIK(3) 5342|HE KH#Q3) 5344|#kME FEQ) 5345\ =#8 ZEK(3) 5353|ER ZE&H3) 5417/ BA(3) 54.81
. i RE— =M X# NG R— Ee LWhER 48
168 | #mEBTe00m |8 _ BIEE3) 1:59.86 BTET  #%(3) 2:00.29|/MzR  ##E(3) 2:00.86|/MR £ A(3) 2:00.97|R1E  1#(3) 2:01.00/;E& BEH3) 2:04.14|1& EX() 2:04.92| KR FEZE(3) 2:08.65
. B R H|EE HEE R E ALY BEREZ HWA ER
7668 | 1£871500m |B7 EA) 4:30.11|FE K&HQ) 4:35.24| K45 EBQ) 4:35.36|#EE RFQ) 4:35.92|+3CFHEZEC) 4:37.30|i%:2 E8(1) 4:37.84|#2E  1&(1) 4:37.93|HE HHQ) 4:38.28
L= I BER INEE— it [RET— EE— #Fa
1668 |2-38 B3 1500m| N1 AM(3) 40782|fE  H(2) 4:09.57| R&JIEA3) 41155\ EE FE£(2) 412.88|dL#t  HH(3) 4:13.58|=fE RiH(2) 416.14(8HE HIE3) 4:16.60|F1% #BRK(3) 417.27
#HEs H| X# EAR— =3l hREE LWhER F= HRE
168 | £ESTs000m |TF  FEHES) 8:50.43| FILA #(3) 8:56.57|/\ith  3E(3) 9:13.32({k#E HIAK(3) 9:16.64|1kiE ZIN(3) 9:18.95|Z5 /% E’A(S) 9:22.80|7HE AH(2) 9:23.03[%£HEEB 1%(3) 9:23.57
’ mAR— H| A H|E#= —¥ LWhER i) PRER L=
JReq | BT 10mH 5t RAN3) 1474(ILEH FHR() 14.97(KHE EMH(S) 15.29( %8 HIHK(S) 15.63( FH HA(3) 15.66 &% %'WS) 16.11({£8% {B#3) 16.12(#%)1l  R(2) 16.27
(0.914m)EL:+0.1 | Fg3a7 — IH[FE 0 H[EFI =% wBE= NIz F— AR
£— 46.21| &M 47.33|NE— 4170|122 H— 4821|L\HER 48.48|/NBF 48.66| BT — 48.89
l2EBT EE TN GR|#E#E HE() kil Yw>(1) BE BAXQ) T AREAN) BlE KENM) i ZEH(O)
TRSE [ 4xioomr  |EE R(2) EARAAR() EE ER2) E HBR©2 JEH ZE(2) MR FIA(2) 2 R&M
wE BB Ek M) fimkE BEA(2) EOBEM ZREE®(2) SEN E (1) BR FEQ2)
Et+EIE2) L K—(2) RS KB A+ EBB2) bin D) ME &2 mE i)
AN — 4424|315 447188 — 4478[LvhER 4480 F= 4522 EBUJE 45.38| &+ 45.68(1E M 4574
A AR JBEQ) B2 &332 SHEEHE2) HEH D h(3) 2 18K A #HE2 #H EIQ) L% EX@2)
TRSE [ oomr  [TBA KHE(3) mE Q) E+EKER) W —H(3) Fic () Eia AE (2) WA #MKEQ3) Bl X2
B HRE2) FE HEQ) FHE #E2) ER Z=&E®Q) SH EK@) 0nE G N [ER) LLFE —iE(3)
= AR &% 28 AFH #Q) A F1H(3) PR ABA(3) ﬁii FNHE(3) ki AA®R) A HLEQR)
&  #EA) 1m88| K Er HIE(3) 1m82(R#fE FAM) 1m73(785k HEH(2) 1Im70(4% %  BE(2) 1Im70( &% #B#(3) 1m65(F)Il - R(3) 1m65(ZE K#E(3) 1m65
158 | aEEramn | BB H|XE =H L LWhER iz EEH EEXFHE
. NG BIK(B) 1m65
5
o e——E 2l PSC) 4m1o(fkfE FAA(3) 3m70|iE:2 EKR(3) 3m6O| M #(3) 3m60| B E5H(3) 3m40|JIIE fEER(S) 3m40|iEBE @) 3m10|EH EAR) 2m90
=P IH[FE#A HHt alll BB LWhER E= B5=
[ P — 7:1* —#8(3) 6mi5+1.7)[8AK FE@B) 6m21(+1.5)|[FEE BKQB) 6mi16(+1.8)|EEF #£4E(2) 6mi11(+0.8)|M:B H#H(3)  6m10(+2.3)|FHh FEA)  5mI1(+2.2)|/NE AEI(3)  5m8IG+3.0)|{EE #X(3)  5m87(+3.2)
IH|4&H FaIE— JIR Rt 23585m86(+1.6)| RFE 23585m0(+1.6)| K& 23585m76(+2.0)| B L — ZAFB5M79(+1.7)
JReE | HEBFRAR sﬁr £3(3) 13mO3| LI £ E(3) 11m76|iEE Z3(3) 11m59 (AR 5&E(3) 11m20|!1BE Fi#(3) 10m87|&#8 EFth(2) 10m53| 8K #BR(3) 10m53| & REIEZ M (3) 10m52
(5.000ke) | Bkl H|71%k= #e5IE Hikm JIIER wiE 5 BER
A EE0) 23365 | FH B3 23055 | LR EFEHE(3) 23055 | % (M(3) 2145 [BR MAK(Q3) 2156 % |<FRE & (3) 1966 [#R 2 #RE(3) 1961 2 | B FHIFIEEH(3) 1932/
7858 | #@EBEF AR ESE (5 LWhER =H A= ESH— F—
~6H mAEHE  |16.76(+1.7)-10m75 16.34(+0.9)-9m95 16.43(+1.7)-10m60 16.82(+1.3)-11m99 16.99(+0.5)-9m28 17.95(+1.3)-10m20 16.37(+0.9)-10m05 16.28(+1.3)-7m91
1m68-54.30 1m62-53.81 1m65-55.13 1m45-54.66 1m68-55.98 1m56-57.43 1m45-59.58 1m59-1:00.03
ctmal P SRE LWhER 125 |BHE 53 | R4 — M |E R [BEREHE 3655 |F— 36m|F= 34m A= 338
1% 3765 |EHD BE|NhER 385 | R — 3565 | ERLLI= 2985 |dLiE 278 | E— 26 |BAIZ 18 |imA— 1785
FLBI P3:RHFEEEk GRARRR HEEAXRHIHEES



HEOEESERPFREFFAME LRRAS FouoBHE A HEI
FARCILIEE £ 3OS BEEHE BE M
2017/07/05 ~ 2017/07/06 %Eﬁggﬂé g% _SE
BEMENE B E—
Sl S = 2 SN
B ft [EE] 141 21 3L 461 5fi 6L 74 8fiL
JRs@ | VEXFI00m |EEE BEH(T) 13.05/i5MH HR(1) 13.09( R4 JII4634(1) 13.24|fER F42(1) 13.32(Bh ®EQ) 13393 L fBH(1) 13.47|Z )11 FB(1) 13.69(HRAMERTI(1) 1374
B:+32 |2l [RET= WhER BERFHE ERIL— N E— RN A SHE BAIR
JRem | 2FZFI00m [BFR EAN(2) 1275)3AK £==(2) 1281[#&NIFTHTE) 13.07| X% HEiK(2) 1310|245 FER(2) 1317|fAEB BX(2) 13.32)4E EEk(2) 13.35| 7Rk BRTE(2) 13.37
R:+27  |EE B — A= BERZFHIE EHm HEF EW= BE=
JRsE | SFEXFI0m (1B BIF(3) 12,6538 BEAE(3) 12.85|fELLERLE(3) 12.91| KiHZR 2 X(3) 13.15&=8k FH(3) 13.16|88 H(3) 13.26|tF#E EA) 13.29|Fef ZTH(3) 13.37
Bi+04  |BERFHE F— F= WhER RF =H NFk— E|AH]
Jgem | FERT200m |BHE BEEG) 2113\ FILXEA(3) 2717|408 R(3) 21.22|#K HEX Q) 27.42|/MI1 FH(3 27.45|FTE8 BATE(2) 27.64|8h K HRR(3) 27.75|FfRU A Y(2) 28.31
B.01  |F= B R Ut 54 BE= WhER i — LY alll
JR6R | stmizeoom | AR REATE(R) 2:16.85| & BES<H(3) 21785\  E(3) 22004[;ERN  #(3) 2212814 BRE(2) 2:23.04| 7k HR@) 2:24.26| @ ER(3) 2244718 HE®3) 2:26.29
. EL B HE S A5 =Ml it PRER SRFE
JReE | 1ExT1500m |=FF XD 4:50.58|18A& ThEM) 458.13[18AR TR(1) 4:58.22|thik HEC1) 45841\ 7k BEQ) 4:5843|/NE EH#(1) 5:04.74(F1E AFFI(1) 5:1084(2 {BZE(1) 5:11.09
74— L= ABilipm EX il NE— R ABNN=
1668 2.3 % F1500m| B 0 EX() 4:40.44/MR F0(3) 4:42.17|RIL FEI3) 4:4554(i%i0 ZF(2) 4:51.36(R)Il HTH(3) 4:51.96| 2T FE(@Q) 4:51.97|K15 #h(2) 4:52.00(FE BMHH(2) 4:56.18
Nk~ HEER B BT L= g A48 L
JReq | FE%F100mH (BER BE() 15.23|7%  #(3) 15.51| 808 RX(2) 16.10)iT)Il & (2) 16.19|EBECZA(3) 16.19|h#f HEE(3) 16.21|ET T HRQ) 16.46|8% FMA(2) 16.57
(©762mR:+1.9 | 937 — WhER ABLl— SEPE BE— & F= =&
ZRiLI— 52.92(ZBLLH 53.30[L\HER 5357(f=8M 53.96(#% 7 £ 5407|F— 5457|FA— 5468|128 — 54.70
Lomgy |=B BEQ) =k BE(2) sl =) AR A =E AXO) RANEAM) R OCH) A DB
TRE | 4 cioomr  |FEE KIZ(2) BER PR KRN BEQ2) HhEBF(2) By 2 B BR2) Rk ER(2) T BAE()
=R 3FHE2) =R BHEQ) EERFIZE(T) Bl FR(2) G TIE?2) £l SH(2) WA HEEQ) EH FR2)
Hth RE1) Mg FEA2) ik BT(2) (D 1] BX #(2) RH FEQ1) ) F T TE(2) Hk FE2)
BEXFHE 50.38|#EEH 50.95|L\HER 51.11[FE= 51.55|ERILI— 51668 = 51.861E% 52.40 537 i s 53.69
sgxg |EB B2 Kifl HEEQ) 1 2 RFFR(3) B KBS Kl #HEEQ) mEEE IRAE(2) ik RA((2) SAMRES)
1R6E | AU KB EHRE2) BA B2 NI FIH(3) 1’E|J.l'§*"ﬁ’ﬁ(3) &5 EFI(3) AR BEEG) BAE BIEQ) HR EFE@)
513 < ZE(3) A FRS) RBJIH3(1) BRI TREG) B2 ENG) RR<B(2) hE EX(2) REILTER(2)
B #F(3) BE  %@Q) RHERREEQ) &8 BER) A RX(2) ER _EMNE) EBCCAH(3) ALK H(3)
JReR | tmarmy | —BILERE2) 1mB0| /&R < #(3) 1m54[5RF HA(2) 1m54[RE FE{K(2) 1m51(BEHF £E(3) 48| RRE{H(2) 1m45[IFR  E&(3) 145 EHEIE(2) 1m40
EHAm IH|Fa i1 BEXFHE A BE= REE— mE
1R5E | tmkrrmy | RE /MEIR)  5m38C20)|HE HIBQ3) 5SmII+3H)|ME  R(2)  Sm2AGILO|=HBEF(2) SmI4+1.8)|WEITHER)  Smi4t22)[/NEH FR(EG)  5mO4O.N|EREXFI(S) 5m03(+2.3)|FAMRRE@B)  4m90(+2.0)
E5M ZARH— ER5m09(+2.0)| AR tiE EE— 28R5m00+2.0)| /NEF HEE 5RAmo7(+1.3)| 5 4
1gsg | HEETFEAR EBRXRE) 12m86 B HDEMN(2) 12m36| TR HF(3) 12m14{/M FHE(3) 11m85(FHa  Z(3) 1m45(#5K  F(3) Tim10(EAR A (2) Tom82 (3t 4 ER(3) 10m45
@721ke)  |[RET— H|F =H ARG BE— il EW= BATR
Bl HE#E3) 25933 |XER BRE(3) 2460 [iEER EF(3) 2318 [ KA #R(3) 2056 (B7TE FEFA(3) 19331 RXEQ) 18933 (£ TAAE(3) 1847 RE #ES) 1845:%
7A5A | siExF  |HHAR P3,GR|7%i Lt BEXFHE PfE— = EHm FRER
~68 | EHERRHE |1545(+0.4)-1m57 16.45(+0.1)~1m51 16.11(+1.8)-1m45 16.83(+0.9)-1m30 16.96(+1.8)-1m20 17.19(+0.1)-1m30 17.46(+1.8)-1m25 17.97(+0.9)-1m20
9m08-27.88(0.0) 10m79-28.57(0.0) 8m06-27.78(0.0) 9m63-29.39(0.0) 7Tm52-27.73(0.0) 8m38-29.96(0.0) 7m97-29.12(0.0) 8mB89-28.60(+1.9)
e Ba#E  |LVhER 728 | AT 538 | — M R[S 7R |REKRFHE 36.5m | F— 365 |F= 34 |BBIL= 334
T xTee  |[EEAFHE sem[LbER um|FE= 245 BBIL— 22 [ AILm BB 218 L] 198 [Fiam 1455
Bl PRRAFIE GRARER HEEXSHHEER

¥ FR-ERBTOLERELHFEHE

3EBEF100m TR
3EFF100mFE
3E B F100mHER B
18 B F400mFiE
$58 B F3000mFiE
HBBEF11OMHTE
HFEEFIO0mMHTE
HBE L F800m TR

BE EAEG)
PP NE))
BA B3O
EK Bh3)
® RIEB)
Hith #BAQ) Bz
IWHE AR Him
KAREFIE(2) KR

X
RE—
A
X
A=

11.14(+2.0m/s)
11.20(+2.0m/s)
11.15(+1.6m/s)
51.43

8:53.55
14.89(+1.7m/s)
14.91(+1.0m/s)
2:13.64




